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2 = CES L
HIXIE X%

1 NZHELS 159,356,000 0 159,356,000
2 HIXESES 0 12,500,000 12,500,000

3

159,356,000 12,500,000 0 171,856,000
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& sl = k= g T MHEE Al
1 204 204 56,400,000 56,400,000
Z ARG 3,360,000 0 3,360,000
2 ST H=g XN 2,400,000 2,400,000
EEPYE 1,500,000 1,500,000
3 EEEEIEEERE ERZ U gREY3 4,800,000 4,800,000
4 NElEE e ABlEEBea 4,560,000 4,560,000
5 284 U 242 284 Y 242 1,800,000 1,800,000
6 2IQ=2 2293 1,800,000 0 1,800,000
7 Z 3| HMZ2D2 MMz 0 1,000,000 1,000,000
g T xh2H| 1,800,000 0 1,800,000
L] W] 600,000 700,000 1,500,000
] Arel ENEERIE SAgxoI 15,600,000 15,600,000
= SAHZ2 JSAY | SA| 57,536,000 57,536,000
0 Al DT JAAYH] A 2 DT 3,000,000 7,000,000 8,000,000
11 D20H  SSHHFET2IBAIAH 2EHHE L OFRIHEH 3,600,000 5.000,000 6,600,000
At X AT 2 AL T2 24 AH] 0 3,000,000 3,000,000
H5T2 JUAYH] H5T2 A 600000 500,000 1,100,000
£ 159,356,000 0 17,200,000 176,556,000
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